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Paper — |

Note : e This paper contains Sixty (60) multiple choice questions, each question carrying two (2) marks.
o Candidate is expected to answer any Fifty (50) questions.
¢ In case more than Fifty (50) questions are attempted, only the first Fifty (50) questions will be

The following table shows the percentage profit (%) earned by two companies A and B
during the years 2011-15. Answer questions 1-3 based on the data contained in the table :

Profit earned by two companies

Percentage Profit (%0)
Year
A B
2011 20 30
2012 35 40
2013 45 35
2014 40 50
2015 25 35
Where, percent (%) Profit = Income - Expendlture x100
Expenditure
1. In which year, the percentage profit earned by the company B is less than that of company
A?
(1) 2012
(2) 2013
(3) 2014
(4) 2015

2. If the total expenditure of the two companies was ¥ 9 lakh in the year 2012 and the
expenditure of A and B were in the ratio 2 : 1, then what was the income of the company

A in that year ?

3. What is the average percentage profit earned by the company B ?

(1) %9.2lakh
(2) %8.1lakh
(3) %7.2lakh
(4) 6.0 lakh
1) 35%
) 42%
(3) 38%
4)  40%
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gga= — |
AMT: o T URATST H WS (60) Tgiahedd U9 & | Udh U9 &t (2) I E |
o 3Tl P FHIE O g (50) WA H I A € |
o I wETE (50) ¥ 21fus WA % ST K A v w=ne (50) U & S S |

fr=fafaa arferer & a9 2011-15 & SR A A B AW & HUi4al gRT AfAT o &
IOt (%) TIME TS | W9 1-3 T 0T dlferehT ¥ f4T Uew % MR O AT |

Tt HUTAT RT ATSAT AT
AT Tt ATt (%)

as

A B
2011 20 30
2012 35 40
2013 45 35
2014 40 50
2015 25 35

TR, B AT e (%) A = ———— x 100

1. fq ad | St B §R1 A0S Tl Uiaeredn, sl A §RT ST o bl Siaeide 9 A & 2
(1) 2012 (2) 2013
(3) 2014 (4) 2015

2. I 3 HuET B HeT =, a9 2012 T 9 AT T 7 3T A 3R B % FF B SFAWT 2 ¢ 1 AT,

3T 99 H hUAl A hl 3T T T 2
(1) T927m@ (2) 8.1 @
(3) 727 (4) T6.0m@

3. U B g AR o i 3 SideTddr s € 2

(1) 35 wfaee (2) 42 wiae
(3) 38w (4) 40 wieer
C-00 3 P.T.O.

WWW a?27StuUbiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

The following table shows the number of people in different age groups who responded to
a survey about their favourite style of music. Use this information to answer the questions
that follow : (Question 4-6) to the nearest whole percentage :

10.

C-00

Number of people
Age — | (Years) | (Years) | (Years)

Style of 15-20 21-30 31+
Music {

Classical 6 4 17
Pop 7 5 5
Rock 6 12 14
Jazz 1 4 11
Blues 2 3 15
Hip-Hop 9 3 4
Ambient 2 2 2

What percentage of respondents aged 31+ indicated a favourite style other than classical
music ?

(1) 64% (2) 60%
(3) 75% (4) 50%
Approximately what percentage of the total sample were aged 21-30 ?
1) 31% (2) 23%
(3) 25% (4) 14%

Approximately what percentage of the total sample indicates that Hip-Hop is their
favourite style of music ?

(1) 6% (2) 8%

(3) 14% 4) 12%

The process of copying files to a CD-ROM is known as

(1) Burning (2) Zipping

(3) Digitizing (4) Ripping

An unsolicited e-mail message sent to many recipients at once is a
(1) Worm (2) Virus

(3) Threat (4) Spam

The statement “the study, design, development, implementation, support or management
of computer-based information systems, particularly software applications and computer
Hardware” refers to

(1) Information Technology (IT)

(2) Information and Collaborative Technology (ICT)
(3) Information and Data Technology (IDT)

(4) Artificial Intelligence (Al)

If the binary equivalent of the decimal number 48 is 110000, then the binary equivalent of
the decimal number 51 is given by

(1) 110011 (2) 110010
(3) 110001 (4) 110100
4
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Frafafae Aiferer # TR SAerT-3erT og WHE | A i guirar T €, i s uHe & w6t
et & Hae | fopw Ty waervr § SR faar | 3@ guen oy | 5 T uvet (4-6) eI A &
o w1 yew 3R e qut ufaear & SaR W E

AN B HET
g | (@) () ()
| 15-20 21-30 31+
i et |
I 6 4 17
o 7 5 5
ED 6 12 14
SIS 1 4 11
EYal 2 3 15
feu-gta 9 3 4
i 2 2 2
4, 31+ 3 % SIS & febe UTeTd = IME Sid | =T TgIsT 9iell i SRTd fohar & 2
(1) 64% (2) 60%
(3) 75% (4) 50%
5. ot WISl T G fohe T Uidere 21-30 319 & & ?
(1) 31% (2) 23%
(3) 25% 4) 14%
6. ol UISY T T foheieT WA I8 Tehal IeT & 1o feu-gT 37kt Uis ol Hliel 91 & 2
(1) 6% (2) 8%
(3) 14% (4) 12%
7. WEL TH Y BEA I BT H B UTSHAT Hl T ST ST &
(1) sfm (2) e
3 fefsrersiom 4 o
8. e VI3l i qid WST 7T STATe $-HeT i el STl &
(1) @™ (2) =™
3) o= (4) w=

9. UT FHUT — “HHX MU FaT TUGAt 1 376, 1ehed, Tk, fharaae, wesH ar ueem,
(1) o drefent (3E2) 9 |
(2) FEAT AR YT SN Tenfirent (SMEH) T |
(3) T 3R UG UiEnfiTeh! (SMETEL) T |
(4) FOE FF (TIAE) F |

10. =TS 3T G&A 48 i fg 3t Iuqed 110000 &, o STHe @ 51 o fFemert Toqed &

(1) 110011 (2) 110010
(3) 110001 (4) 110100
C-00 5 P.T.O.
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11. Identify the air pollutant in urban areas which irritates eyes and also respiratory tract of
human beings.
(1) Particulate matter (2) Oxides of nitrogen
(3) Surface ozone (4) Carbon monoxide

12.  Which of the following is the largest source of water pollution in major rivers of India ?
(1) Untreated sewage
(2) Agriculture run-off
(3) Unregulated small scale industries
(4) Religious practices

13. Sustainable development goals have specific targets to be achieved by

(1) 2022 (2) 2030
(3) 2040 (4) 2050
14. Indian government’s target of producing power from biomass by the year 2022, is
(1) 50MW (2) 25MW
(3) 15MW (4) 10 MW

15. Assertion (A) : Conserving our soil resources is critical to human survival.
Reason (R) : Soil is home to many micro-organisms and contains minerals.
Choose the correct code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(3 (A)istrue and (R) is false.

(4) (A)is false and (R) is true.

16. World Meteorological Organisation’s (WMO) objective has been to reduce the number of
deaths due to hydrometeorological disasters over the decade 2010-2019 by (with reference
to the decade 1994-2003)

(1) 25% (2) 50%
3) 75% (4) 80%
17. is a type of memory circuitry that holds the computer’s start-up routine.

(1) RIM (Read Initial Memory)

(2) RAM (Random Access Memory)
(3) ROM (Read Only Memory)

(4) Cache Memory

18. An ASCII is a character-encoding scheme that is employed by personal computers in
order to represent various characters, numbers and control keys that the computer user
selects on the keyboard. ASCII is an acronym for
(1) American Standard Code for Information Interchange
(2) American Standard Code for Intelligent Information
(3) American Standard Code for Information Integrity
(4) American Standard Code for Isolated Information

C-00 6
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IR G H U g WSUP I THRT HiT, FEE o @i siiEl ST g Folt § Sord el
T

(1) fafere yerel (ufespere #eX) (2) SIS W SRS
(3) Wl ST (4) A RS

IR I STI-TEl AGAT § STeT UgU0T T H=TerEd § ¥ o Se1 Ad 997 € ?
(1) IrHamyd Aerstet

(2) FN GaHr AR

(3) Afafrafaa g 3Em

(4) et Afq-Rarst

Huie e 1 71e fefeiad O 9 f5g ad & U e o6l [aime o € ?
(1) 2022 (2) 2030

(3) 2040 (4) 2050

T 2022 T TEHER T g e & WK B A8 &

(1) 50#ar (2) 25"

(3) 15¥ar (4) 109ar

afirepe (A) : BHR GST SETEET 51 GREI0T A Siie % {old Hecqor § |
% (R) : ST S GeH Sl o1 a1 € IR g @i ¥ |

Tt e T TI BT

(1) (A) 3R (R) 31 el € 37 (R), (A) &I T& AT |

(2) (A) 3R (R) 51 W@l &, e (R), (A) ot Tel e el ¢ |
(3) (A) T T R (R) T € |

(4) (A) 7o g 3R (R) &I € |

foreer AT e (S509,UH.31.) T 3TI9F 2010-2019 % 39 H STA-HGH (BTSSRI HeT)
3MIRT3T & HRUT G il T (1994-2003 % I i JoiT H) fereT o &1 & 2

1) 25% 2) 50%

(3) 75% 4) 80%

TR ARt 1 T TR &, ST FHPRT o WIE-3TT T i TR0T T ¢ |
(1) SRAETA, (G I THRY)
(2) FRUEA. (FH U HA)
(3) AR.3NTH. (T et HHRY)
(4) TR

T.UH 37T, 31TE. Ueh hiae UA-HITST WhiF &, ST aaierish e R AT ol STt & e o
TafiT=T ey, TEAmetl i Fa=oT HiSTal s et fohar ST 9oh, T HPeX TR a8 T
TI AT ¢, T I 3TE. 3T, % foTT wep Tehit (aaoih) & |

(1) g % SAaHag & feTT il AHS Hie

(2) FfEEATOT YT % AU SR HHE HE

(3) I H AR % feTT TR I hie

(4) 9% G % (A0 SR T e
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19. The National Judicial Appointments Commission (NJAC) has been declared
unconstitutional by
(1) The Supreme Court of India
(2) The High Court
(3) The High Court and the Supreme Court both
(4) The President of India

20.  Which of the following statements about the Indian political system is/are correct ?
(@ The President is both Head of the State and Head of the Government.
(b) Parliament is Supreme.
(c) The Supreme Court is the guardian of the Constitution.
(d) The Directive Principles of State Policy are justiciable.
Select the correct answer from the codes given below :
(1) (@), (b), (c) and (d) (2) (b), (c) and (d)
(3) (b)and(c) (4) (c)only

21.  Which of the following are the fundamental duties ?
(@) To respect the National Flag.
(b) To protect and improve the natural environment.
(c) For a parent to provide opportunities for education to his/her child.
(d) To protect monuments and places of national importance.
Select the correct answer from the codes given :

Codes :
(1) (a), (b) and (c) (2) (a), (b) and (d)
(3) (a), (c) and (d) (4) (), (b), (c) and (d)

22. Which of the following statements are correct in respect of Niti Aayog ?
(@) Itisa constitutional body.
(b) Itisa statutory body.
(c) Itis neither a constitutional body nor a statutory body.
(d) Itisathink-tank.
Select the correct answer from the codes given below :
(1) (a)and (d) (2)  (b)and (d)
(3) (c)and (d) (4)  (b), (c) and (d)

23.  Which of the following core values among the institutions of higher education are
promoted by the NAAC (National Assessment and Accreditation Council) ?
(@ Contributing to national development.
(b) Fostering global competencies among the students.
(c) Inculcating a value system among students and teachers.
(d) Promoting the optimum utilization of the infrastructure.
Select the correct answer from the codes given below :

Codes :
(1) (b), (c) and (d) (2) (a), (b) and (c)
(3) (a), (c) and (d) (4) (), (b), (c) and (d)

24. The best way for providing value education is through
(1) discussions on scriptural texts (2) lectures / discourses on values
(3) seminars / symposia on values (4) mentoring / reflective sessions on values
C-00 8
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19. T =g FfeRT SN (TS TE) B FHeterad B e srident-es e 6 & 2
(1) 9RA & STadq == =
(2) 3I=a =R A
(3) T TR 3K STUAH e S A
(4) 9RA & TgAld A

20. WRAR TTiTeeh sere & Gay § Fefoingd ¥ iH-91/4 H Tl 878 ?
(a)  Tregufd, ToaTeeT S SMEATEeT AT € |
(b) T TEE Y |
(c) S=aaw e, Giadr 1 T § |
(d) TF-FTT & e fagia arara € |

e few T 2t | TE IR A T B
1) (a), (b), (c) AR (d) 2) (b), (c) R (d)
3) (b) &R (c) (4) wa (c)

21. frAfatEd § @ SA-9 Tet (Hifersh) Fied € 2
(a) TR & T
(b)  TITSHTcTeR TATERIT i & SR SHH GUR
(c) TTa-ToaT §RT 310 S=d i fI18T & 31T TS LT |
(d) T Hewd % TR 31T T i GRET HET |

T ST 7T P2l ¥ Hel ST 1 T DT

- T

1) (), (b) 3 (c) 2) (a), (b) 3R (d)

3) (), (¢) IR (d) 4) (@), (b), (c) R (d)

22. g e % ey § Efaiad § @ i 9 O 98 ?
(3) TE UH G e & |
(b) TE U Gt FEE T |
(C) ¥ T A WorTeh T &, 7 & Witate e § |
(d) =& T ferc i (o &) |
=il T T 2t F e ST BT AT BT
(1) (a) =R (d) (2) (b) =R (d)
3 (c) =R (d) @ (b), (0) 3R (d)

23. =9 forem @ GRSl W AL oAt Ud TR URug (Ah) §NT EfciEad § § f6g s
o i agran fan mn g ?
(a) UL g | 31asH
(b) Torentémi & Afvere waoTarett 1 T
(c) Tomnfedt 3R sreaTushi B god-oaae faepfad T
(d) smenfier Gfaenen & an SUAN H g@E A7

T 3T et F el SR A1 94 HISIT
he:
1) (), (c) 3R (d) (2 (a), (b) 3R (c)
3) (@), (0) 3R (d) 4 (@), (b), () 3 (d)
24. T TIeT USH A T GaaH R &
(1) TS e o gt (2) T W A/ AREARIEE e
(3) TeAl W el AREaE (4) oA W STEwTEe W)/ fae w7
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25. A college level assistant professor has planned his/her lectures with an intent to develop
cognitive dimensions of students centered on skills of analysis and synthesis. Below,

given are two sets of items Set — | consisting of levels of cognitive interchange and
Set — Il comprising basic requirements for promoting them. Match the two sets and
indicate your answer by choosing the correct alternative from the code :
Set—1 Set—11
(Levels of Cognitive (Basic requirements for promoting cognitive
Interchange) interchange)
a.  Memory level i. Giving opportunity for discriminating

examples and non-examples of a point.

b.  Understanding level ii.

Recording the important points made
during the presentations.

c.  Reflective level iii. Asking the students to discuss various
items of information.

iv.  Critically analyzing the points to be made
and discussed.

Codes :

a b C
@ i v
(2) i v i
(3) ii i v
4 i i i

26. Which set of learner characteristics may be considered helpful in designing effective
teaching-learning systems ? Select the correct alternative from the codes given below :

(i)  Prior experience of learners in respect of the subject.

(it)  Interpersonal relationships of learner’s family friends.

(iii)  Ability of the learners in respect of the subject.

(iv) Student’s language background.

(v) Interest of students in following the prescribed dress code.

(vi) Motivational-orientation of the students.

Codes :

@) (), (i), (iii) and (iv) (2) (i), (i), (iv) and (vi)

(3) (i), (iii), (iv) and (v) (4) (iii), (iv), (v) and (vi)
C-00 10
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25. UF WENgEed WX % WeEE WHE F foveluur R Heewur siee Wohisd, foentaE &
GIMTEE ST I [T - & I(0vd | 30 ATAFT &l T ASHT 991 & | A< 781 & &
e 5w M0 & — Y| TeETES Sdai e & W ¥ Getud € 3T Ge-ll 3% Sgren 34 % formw
Tod TUeTTS O Tated & | IHT T2l bl GHfeTT HINTT 3R $e T Tt foshed 1 a2 Hech 3T

IR ST
e r o |
(VAT A BT ER) (WS a1 &t agmar 39 & g gere
ATATIHATY)
a. d TR i ot g % 3RO S IR-SIEN B gAS
T T T T |
b. EEYy TR ii. TR 3 R ST MU Hewur gt w
T HE |
c. fome & iii. o % fafte W& W TEl ®H % o
Tornférat & e |
iv. foer=T fogeT 1 STelaHTHs favetsuT S
3R 3T I == HET |
FT
a b c
Q) i v
@) Qi v i
@) i i v
@ i Qi i

26. gwrel foreror.etfem seenat o Sfivehed | f¥retelt ot foaviaarent 1 i 91 4 Gedeh HeEN ST
T ¢ 2 A ST 7T e T et foreheq 1 997 Pt

(i) Toug & Gy § SMerTHsharsti &1 qd-3mad

(i) srfemaedisti & URaR & =t %1 Siqaaiods dee
(iii) Towg o G | StterHehdiat s i

(iv) To=nfaat ot Sor-geay iy

(v) Tiia 39 #ig == | faenfeat = sfa

(vi) To=nterat st RIS ST

T
(1) (), (i), (iii) 3R (iv) (2) (), (i), (iv) 3T (vi)
(3) (i), (i), (iv) 3 (v) (4) (i), (iv), (v) 3 (vi)
C-00 11 P.T.O.
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27. Assertion (A) : The purpose of higher education is to promote critical and creative
thinking abilities among students.
Reason (R) : These abilities ensure job placements.
Choose the correct answer from the following code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)istrue but (R) is false.
(4) (A)is false but (R) is true.

28. Match the items of the first set with that of the second set in respect of evaluation system.
Choose the correct code :

Set -1 Set—11
a.  Formative evaluation I. Evaluating cognitive and co-cognitive
aspects with regularity
b.  Summative evaluation ii.  Tests and their interpretations based on a
group and certain yardsticks
c.  Continuous and iii.  Grading the final learning outcomes

comprehensive evaluation
d.  Norm and criterion referenced iv. Quizzes and discussions

tests
Codes :

a b c d
Q) iv i i i
2 i i i v
(3) i v i i
4) i i iv i

29. Select the alternative which consists of positive factors contributing to effectiveness of
teaching :
List of factors :
(@) Teacher’s knowledge of the subject.
(b) Teacher’s socio-economic background.
(c) Communication skill of the teacher.
(d) Teacher’s ability to please the students.
(e) Teacher’s personal contact with students.
(F)  Teacher’s competence in managing and monitoring the classroom transactions.

Codes :
(1) (b), (c) and (d) (2) (c), (d)and (f)
(3) (b), (d)and (e) (4) (a), (c) and (f)

30. The use of teaching aids is justified on the grounds of
(1) attracting students’ attention in the class room.
(2) minimising indiscipline problems in the classroom.
(3) optimising learning outcomes of students.
(4) effective engagement of students in learning tasks.
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27. afwem (A) ;ST IR o vEiSH el | SieeHTens 3T geHIeHeh o i

T TFTEAT AT |
T (R) © T Angaret ¥ - gied S |
FAfcRad e ¥ Hel 3T H 74T Do

(1) (A) 3 (R) 31 Tl & 3i¥ (R), (A) T &l A E |
(2) (A) 3R (R) I T&l €, o6 (R), (A) FF el a0 &t ¢ |
(3) (A) Wl g 3R (R) ToId & |

(4) (A) 7o g 3R (R) W&t € |

28. oA YUTGH i 5t | W — | % HT &l ¥ — |1 % I & 1T Yol HIFT | Tel F2 1 =97

T :
qz- | wz- I
a. IS o i, fEfmad % 9 S9EeTs, 9e-SeEeTes
TEeTST T godishd ST |
b.  GehoHIcHS TodishA i. R W iR F® WSSl % SR W
TRIEIT S 3R AT
c. Tad R IS Jedih iii.  sifqy st afeoma T Suiezor
d.  H® R ey i adrefor iv. TR SR TEn
T
a b C d
@ v i i i
@ i Qi i v
@) @i v Qi
@ i i v i
29.  ToTeTOT St TTERIRAT | TNTEH o Aol WehRIcH IRl et foehed 3T T HifT :
R ! G :

(a) TeATIH i [auF T T

(b)  3TEATIS I AHIH- 3T g

(C)  3TeATIH T FUTT DI

(d) To=nterat ot e A Dt 3TEATIH Hl Fad

(e) Toenférat & | 3TeATIe 1 AN TUH

(f) T TATER o oo AT S0 § 3TeATIh ot &THT
F

(1) (b, (c) & (d) 2 (), (d) =R (f)
3)  (b), (d) ¥ (e) 4 (), (c) #R (f)

30. ToTeToT Heel TETesh-SUHII il ST % e 1 3R &
(1) oFRT | To=nierat T &3 STehiud e |
(2) TR T SR Sl FHET Sl HH FHAT |
(3) Tomntaat o 3tferTy UROTHE S TAH FHEAT |
(4) et St | faenferat s et &7 ¥ oI |
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31. The format of thesis writing is the same as in
(1) preparation of a research paper/article
(2) writing of seminar presentation
(3) aresearch dissertation
(4) presenting a workshop / conference paper

32. Inqualitative research paradigm, which of the following features may be considered critical ?
(1) Data collection with standardised research tools.
(2) Sampling design with probability sample techniques.
(3) Data collection with bottom-up empirical evidences.
(4) Data gathering to take place with top-down systematic evidences.

33. From the following list of statements identify the set which has negative implications for

‘research ethics’ :

(i)  A-researcher critically looks at the findings of another research.

(i)  Related studies are cited without proper references.

(iii) Research findings are made the basis for policy making.

(iv) Conduct of practitioner is screened in terms of reported research evidences.

(v) A research study is replicated with a view to verify the evidences from other
researches.

(vi) Both policy making and policy implementing processes are regulated in terms of
preliminary studies.

Codes :
@ (), (i) and (iii) (2) (i), (iii) and (iv)
(3) (i), (iv) and (vi) (4) (i), (iii) and (v)

34. In a research on the effect of child-rearing practices on stress-proneness of children in
completing school projects, the hypothesis formulated is that ‘child rearing practices do
influence stress-proneness’. At the data-analysis stage a null hypothesis is advanced to
find out the tenability of research hypothesis. On the basis of the evidence available, the
null hypothesis is rejected at 0.01 level of significance. What decision may be warranted
in respect of the research hypothesis ?

(1) The research hypothesis will also be rejected.

(2) The research hypothesis will be accepted.

(3) Both the research hypothesis and the null hypothesis will be rejected.
(4) No decision can be taken in respect of the research hypothesis.

35. A researcher intends to explore the effect of possible factors for the organization of
effective mid-day meal interventions. Which research method will be most appropriate for

this study ?
(1) Historical method (2) Descriptive survey method
(3) Experimental method (4) Ex-post-facto method

36.  Which of the following is an initial mandatory requirement for pursuing research ?
(1) Developing a research design
(2) Formulating a research question
(3) Deciding about the data analysis procedure
(4) Formulating a research hypothesis
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31, INY-USY foa T UTET Jel gl § S (eteied | eidm §
(1) INY-T/E TR HET | (2) TS VRN HT TG
(3) TNy % oTERNY-VET | (4) PEIAVTHAT H oG W& HAT |

32. TR Iy & UiqwH H, FefeRad § @ S 9t faeiedr s gewerger JET ST S € ?
(1) Wi TN SUHOT Hl FeTFd T TS Hl Fhor |
(2) H9E UAE A Aled WISl o 1 3T |
(3) R %GRl § Sfsargufes |ed b ¥ ST TRIFar SR SAgEdT |
(4) =9 9 T Hafera deat dted ved SR |

33. FrefafEd oAl S gE ¥ 39 9 i fafead Hie, e oy sl Afdear I TR 9
TS E
(i)  vmeme, SO 9y &% Fehul T STeraTcH gt SiefdT & |
(ii)  STod Hewt & fomr Tefud steraat ot 33y fham ST § |
(iii) e % frepd =Aifq 0T 67 eUR B € |
(iv) TIRITeTT e W1edT & STYR U ATeRbaratl o TTeR0T T YLIeTor fohal S & |
(V) 3T 9T o TTeT BT WO i i e § INY ST i SNgccdsh &9 § o= fopar

ST & |

(vi) it Fmior iR it fharea ST UThaTeT B AR STl o YR WX Afauiied fhar
ST & |

HT

@ (), (i) 3% (i) @) (i), (iii) 3% (iv)

3 (i), (iv) 3 (vi) @ (i), (iii) 3R (v)

34, [TETeE-uRESTHT S QX HA § Foai Sl Hidael S W R 9o SeeR & THE GaEr I
o aRepeaT @7 € T oIy Ure SaRR &1 Widael SRgEdT WX 3Tad WIE UEar & I e
faroctor =i STaen | Y IR Sl W 1 Idl oFH & [T [ IRepeaHT Sl IRaterd
Toham ST & | SUCTed WIEA & SR WX I UNGheTAT i rshdl & .01 TR W SEHR fohar
ST & | 9 URehedT & ey | o foTar sroferd € 2
(1) vy IReeAT i off SR o St |
(2) MY UREHEIAT i WK fFT e |
(3) MY URHEIT 3R I TN T T SRR fohal ST |
(4) vy IRSCTT & Gy T g FUT T T ST Hhdr ¢ |

35. A g It Tl S-S HieT B%aei & SIS o [T SHIfad SRl o 9T 61 Ol T
TEAT & A ST ! i T UF(d 39 37697 & foTd g gt 2
(1) uideras =i (2) =TS T Tl
(3) WETICH YTd (4) HERR YSa

36. Y T % T F=ATARad H | S | SR e i 3T9eT & 2

(1) STTEYE AHeT fohiad T |
(2) ITTHEH-IH TR KT |

(3) ST forweIyuT UfskaT % ey | M oA |
(4)  STTEUH-URGHETAT TS FHET |
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Read the following passage carefully and answer question numbers from 37 to 42 :

In terms of labour, for decades the relatively low cost and high quality of Japanese workers
conferred considerable competitive advantage across numerous durable goods and consumer-
electronics industries (eg. Machinery, automobiles, televisions, radios). Then labour-based
advantages shifted to South Korea, then to Malaysia, Mexico and other nations. Today, China
appears to be capitalizing best on the basis of labour. Japanese firms still remain competitive in
markets for such durable goods, electronics and other products, but the labour force is no longer
sufficient for competitive advantage over manufacturers in other industrializing nations. Such
shifting of labour-based advantage is c[earlty not limited to manufacturing industries. Today, a huge
number of IT and service jobs are moving from Europe and North America to India, Singapore, and
like countries with relatively well-educated, low-cost workforces possessing technical skll_ls.
However, as educational levels and technical skills continue to rise in other countries, India,
Slnﬁapore, and like nations enjoyln% labour-based competitive advantage today are likely to find
such advantage cannot be sustained through emergence of new competitors. )

In terms of capital, for centuries the days of gold coins and later even paper money restricted
financial flows. Subsequently regional concentrations were formed where large banks, industries
and markets coalesced. But today capital flows internationally at rapid speed. Global commerce no
longer requires regional interactions among business players. Regional capital concentrations in
places such as New York, London and Tokyo still persist, of course, but the capital concentrated
there is no longer sufficient for competitive advantage over other capitalists distributed worldwide.
Only if an organization is able to combine, integrate and apply its resources (eg. Land, labour,
capital, IT) in an effective manner that is not readily imitable by competitors can such an
organization enjoy comﬂetltlve advantage sustainable overtime. o

In a knowledge-based theory of the firm, this idea is extended to view organizational knowledge as
a resource with atleast the same level of power and importance as the traditional economic inputs.
An organization with superior knowledge can achieve competitive advantage in markets that
aﬂpremate _the application _of such knowled?_e. Semiconductors, —genetic  engineering,
pharmaceuticals, software, military warfare, and like knowledge-intensive competitive arenas
provide both time-proven and current examples. Consider semiconductors (e.g. computer chips),
which are made_pr|n0|pa_llﬁ/_ of sand and common metals. These ubiquitous and powerful electronic
devices are designed within common office buildings, using commercially available tools, and
fabricated within factories in many industrialized nations. Hence, land is not the key competitive
resource in the semlconductorlndustr?/. ] )

Based on the passage answer the following questions :

37. How can an organisation enjoy competitive advantage sustainable overtime ?
(1) Through regional capital flows.
(2) Through regional interactions among business players.
(3) By making large banks, industries and markets coalesced.
(4) By effective use of various instrumentalities.

38.  What is required to ensure competitive advantages in specific markets ?
(1)  Access to capital (2) Common office buildings
(3) Superior knowledge (4) Common metals

39. The passage also mentions about the trend of
(1) Global financial flow
(2)  Absence of competition in manufacturing industry
(3) Regionalisation of capitalists
(4) Organizational incompatibility

40. What does the author lay stress on in the passage ?

(1) International commerce (2) Labour-Intensive industries

(3) Capital resource management (4) Knowledge-driven competitive advantage
41. Which country enjoyed competitive advantages in automobile industry for decades ?

(1) South Korea (2) Japan

(3) Mexico (4) Malaysia

42. Why labour-based competitive advantages of India and Singapore cannot be sustained in IT
and service sectors ?
(1) Due to diminishing levels of skill.
(2) Due to capital-intensive technology making inroads.
(3) Because of new competitors.
(4) Because of shifting of labour-based advantage in manufacturing industries.
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(1) &g STt vaE) & Ay ¥ |

(2) AR FHATST & ST AT SATHAT 6 AT F |

(3) TS SR, ST S ASTRT ST WAL T |

(4)  fafr= Tt & T S FRT |

38. fafere SR & wfceell e it grred w3 & fod 9 3Tewash § 2

j
FErEEES
%
|
e

(1) YT =l Gorvar (2) I FHEE HaT
3) 3SPE A (4) TWERT 9y
39. & 3501 h9 T ool HAT & 2
(1) e foa Ham (2) fafmior e o ufqeret & enre &
(3) UsTenfear & &¥=raehoT i (4) EISHATHS TG
40. T9 ST H I [ T A I € 2
1) SR SO I (2) S9-TTEA 3T W
(3)  TSH-TATHA T T (4) TH-3TIRA el oy o

41. 9 <90 SIS ST H ST e Ufaedell ey 3S/ € ?
(1) sfeor =itEn (2) S (3) wfoRgent (4) HATSTET
42. R AR TR o 3-SR Hferael o SE2t IR Qe & | i St Tl foher ST b ?
(1) T % ST TR % HROT (2) ST Ut o 37 % HROT
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43. What are the barriers to effective communication ?
(1) Moralising, being judgemental and comments of consolation.
(2) Dialogue, summary and self-review.
(3) Use of simple words, cool reaction and defensive attitude.
(4) Personal statements, eye contact and simple narration.

44. The choice of communication partners is influenced by factors of
(1) Proximity, utility, loneliness
(2) Utility, secrecy, dissonance
(3) Secrecy, dissonance, deception
(4) Dissimilarity, dissonance, deviance

45. As ateacher, select the best option to ensure your effective presence in the classroom.
(1) Use of peer command
(2) Making aggressive statements
(3) Adoption of well-established posture
(4) Being authoritarian

46. Every communicator has to experience
(1) Manipulated emotions
(2) Anticipatory excitement
(3) The issue of homophiles
(4) Status dislocation

47. Imagine you are working in an educational institution where people are of equal status.
Which method of communication is best suited and normally employed in such a context ?

(1) Horizontal communication
(2) Vertical communication
(3) Corporate communication
(4) Cross communication

48. Identify the important element a teacher has to take cognizance of while addressing
students in a classroom.

(1) Awvoidance of proximity
(2) Voice modulation

(3) Repetitive pause

(4) Fixed posture
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43. TS TGN H TR 1§ 2
(1) FAfq-wera, HorRuRe giFT SR Wi wer femfort
(2) TS, R X 3TeA-gHieT
(3) ST IISET I VAN, I UidTsha Y T&ledeh g
(4) i FeE, TR AT SR Wt Jui

44, HUNUT GIGHIITET Sl =8 fohd Sheh gRT THTied 81T & 2
(1) r~Teg, SUATT, STherd (2) U, e, STEaEar
(3) I, THEITEAT, B (4) oo, ergentaan, fauem

45. U TS & I H I H AU qAEl Ul GHREd FA o garan faseq a1 @
FHINT |
(1) &N THERL FH qFhT
(2) SAPHF HUF BT
(3) g HiTHT 1 SFARTuT
(4)  TTRR-ETST BT |

46. S TOIUE FI FHT FHR HT 3T BT € 2
(1) T amem
(2) TS ST
(3) EHITweA 1 e
(4) wfefd faemEr

47. SHEOT SHIT T 370 T TH! R1aT S0 | &, SRl AT 99wt o 8 | O fefd o St @
H-H TFTT T 314k UG & 3 U T8 T H B § g STl & ?
(1)  eifest G (2) = GuoT
(3) HURE FUTOT (4) i Guwor

48. M T TRl i GEltad Hd 9T STEAE R S § W@ S aTot Hecaqul awd &l e

HIfT |
(1) wrer § aoer (2) arE WRE IRET (AT HIge)
(3) YRIEd fam (4) Ter vfm
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49. Two railway tickets from city A to B and three tickets from city A to C cost ¥ 177. Three
tickets from city A to B and two tickets from city A to C cost ¥ 173. The fare for city B
from city A will be %

1) 25 (2 27
(3) 30 (4) 33

50. A person walks 10 m infront and 10 m to the right. Then every time turning to his left, he
walks 5, 15 and 15 m respectively. How far is he now from his starting point ?
(1) 20m (2) 15m
(3 10m (4 5m

51. Alissister of B. F is daughter of G. C is mother of B. D is father of C. E is mother of D. A
is related to D as
(1) Grand daughter (2) Daughter
(3) Daughter-in-law (4) Sister

52. Inthe series
AB, EDC, FGHI, ....7...., OPQRST, the missing term is
(1) JKLMN (2) JMKNL
(3) NMLKJ (4) NMKLJ

53. Among the following propositions two are related in such a way that one is the denial of
the other. Which are those propositions ? Select the correct code :
Propositions :

(@ All women are equal to men

(b) Some women are equal to men

(c) Some women are not equal to men
(d) Nowomen are equal to men
Codes :

(1) (a)and (b)

(2) (a)and (d)

(3) (c)and (d)

(4) (a)and(c)

54. In certain code, SELECTION is coded as QCJCARGML. The code of AMERICANS will
be
(1) YKCPGAYLQ
(2) BNFSIDBMR
(3) QLYAGPCKY
(4) YQKLCYPAG

55. Inthe series

3,11, 23,39,59, ...

The next term will be

(1) 63 2 73

(3) 83 (4) 93
C-00 20
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49. A B YET T T fehel 3 A T C 'L &l o7 ¥oT feshel sl Shiaq T 177 € | A9 B IeT &l
i femel 3 A 9 C 916 &t & feshel i shima 2 173 TIU & | 6T A 9 3¢ B & forw fomman

B ;
(1) %25 (2) %27
(3) %30 (4) %33

50. Te TS 31O FHH i 3R 10 HeX 3R 3Tfeet 31X 10 HieX Feie & | Rt a8 7o+t It 31 qe-
TSR I 5, 15 3R 15 HieX ToidT & | 9% 30 99 370 3T fog 9 fohc g0 W 8 2

(1) 204 (2) 15
(3) 104 (4) 5.
51. AB®I Y F,GH T C,BHAE@E, D, CHfuar &, E, D &l a1 &, A%l D q Gey
T
(1) e < (@) (2) =t @
(3) STEA-A (P (4) oI (F&)
52. sj@et AB, EDC, FGHI, ....2...., OPQRSTH ST g2 U ¢ :
(1) JKLMN (2) JMKNL
(3) NMLKJ (4) NMKLJ
53. fefafEd TFeA W 31 30 TR Fad € i o UH-gE % THERIETE & | 3 FE SiE-d
£ 2 Tl BT T TIT HINT :
fHe

(a) T OfeeTd gout % SRR Bt & |
(b) T AfeeTd TEuT o TR Bl & |
(c) T UlEwTd T&HT % SRR el &l & |
(d) g ot AfeeT T8 % SRR F&l erdl & |

?c" :
1) (a) R (b) (2) () R®(d)
3) () &R’ (d) (4) (a) 3R (c)
54, Hdud $ H, SELECTION & %2 QCJCARGML &, AMERICANS T &< & -
(1) YKCPGAYLQ (2) BNFSJDBMR
(3) QLYAGPCKY (4) YQKLCYPAG
55. &
3,11, 23,39,59, ..........
T ST de B
(1) 63 (2) 73
(3) 83 (4) 93
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56. Select the code which is not correct about Venn diagram :
(1) Venn diagram represents propositions as well as classes.
(2) It can provide clear method of notation.
(3) Itcan be either valid or invalid.
(4) It can provide the direct method of testing the validity.

57. Select the code which is not correct in the context of deductive argument with two

premises :
(1) Anargument with one true premise, one false premise and a false conclusion may be
valid.

(2) Anargument with two true premises and a false conclusion may be valid.
(3) An argument with one true premise, one false premise and a true conclusion may be
valid.

(4) Anargument with two false premises and a false conclusion may be valid.

58. Given below are two premises and four conclusions are drawn from them (taking singly or
together). Select the code that states the conclusions validly drawn.

Premises : (i)  All religious persons are emotional.
(i) Ram is a religious person.
Conclusions: (a) Ram is emotional.
(b)  All emotional persons are religious.
() Ram is not a non-religious person.
(d) Some religious persons are not emotional.

Codes :
(1) (@), (b), (c) and (d)
(2) (a)only

(3) (a)and (c)only
(4) (b)and (c) only

59. If the proposition “All thieves are poor’ is false, which of the following propositions can
be claimed certainly to be true ?
Propositions :
(1) Some thieves are poor.
(2) Some thieves are not poor.
(3) No thief is poor.
(4) No poor person is a thief.

60. Consider the following statement and select the correct code stating the nature of the
argument involved in it :
To suppose that the earth is the only populated world in the infinite space is as absurd as
to assert that in an entire field of millet only one grain will grow.

(1) Astronomical (2) Anthropological
(3) Deductive (4) Analogical
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56. 39 e T II BT ST 9 SEUH H Gy H Tl Fal € |
(1) o9 SEuW ATwEET SR AT S UeiET AT ¥ |
(2) IE TohaH Sl T UFHT SUCTe Y ThelT & |
(3) TE Y AT A B WHATE |
(4)  TE AT TRIETOT Y el UFTd STy Y Fhall € |

57. 39 % H TI HINIT, ST I SMR-ATHT St FTe-Tesh a6 o T80T § el 76 € -
(1) UH TEl STUR-AH, T Toid STMER-ATHR 3R Teh TTeld ey aTell deh, I & Fohall € |
(2) T HES SMUR-TEE 3R Uh Tord (hY dTelT a9k 9y &1 Tl & |
(3) UH TEl SMUR-aTH, Ueh ToTd SMEN-ATHR 3R Uk Tel Feht et deh 9 & Fehell € |
(4) T OIS SMER-STERT ATAT T 3R Tk TTeld Fshy 94 &1 TehelT & |
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